-1 -
piece 1, NC 000913, nhaR_IS1A-, config: linear, direction: -, begin: 19825, end: 19601

* *19820 _ * *19810  * *19800 * *19790 __* _.*19780__ * *19770 * *19760 * *19750 *
5’aaacactatcaataagttggagtcattaccagcaattactactcttttcagcatccccatgaaggaagtaatcagattcctS‘
- lys - his - tyr - gln - @ - - - - - - -
-asn-thr-|Ie-asn-Iys-Ieu-glu-ser-Ieu-pro-ala-|Ie-thr-thr-Ieu-phe-ser-|Ie-pro-net-lys-glu-val -|Ie-arg-phe-leu-
- thr - leu - ser - ile - ser - - his - tyr - gln- gln - leu - ley - leu - phe - ser - ala - ser - pro - - - - @ - - - -

~

p35 2.6 bits THp10 4.5 bits

------ } p35-(22)-pl0 19785 Gap 2.3 bits
........................................... | p35-pl0 19785 total 4.8 bits

*19740 * *19730 * *19720 * *19710 * *19700 * *19690 * *19680 * *19670 *

atttatt gcccgcgf at at gaaacaaf tcfcaagcgggcaaataatgagccgagtcaaaatcgtggtaat tacy
- Mt - - arg- val - lys - ile - val - val - met - -
- tyr- Ieu- phe- ala- arg-val - hIS- net - glu- thr- - @ - - - - - - - @ - - -

p35 4.8 bits ir nhaR_I S1A-

—_———

,W,_cco(u_cts“ -orf 7 codons
ir nhaR_| S1A-
----------- | sd-ir 19713,uhaR ISlA- al 5.9 bits
.__,__—_;4_. oS oo sd
[e=>) o [e>]) ==
(T p10 3.2 bits [------ Sl sd-(7)-ir 19693 Gap 3.7 bits
R R | p35-pl0 19716 total 5.6 bits |----- oo - - - - | sd-ir 19693 nhaR_| S1A- total 6.9 bits
e } p35-(24)-p10 19716 Gap 2.4 bits THp10 4.6 bits
p35 4.3 bits
----- } p35-(24)-pl0 19696 Gap 2.4 bits
----------------------------------------------- | p35-pl0 19696 total 6.5 bits
- *19660 * *19650 * *19640 * *19630 * *19620 * *19610 * .
5 aactaatctatctcccccaccttaactttogggggagctgccgattaacgcaccgctggactaald
-lasn - @ - - - - - - . -fMet - gly - glu- leu- pro- ile- asn - ala- pro- leu - asp - @ -

-orf 12 codons R e T ... NC_000913. nhaR



